JOURNAL OF THE INTERNATIONAL MATHEMATICAL VIRTUAL INSTITUTE

 $\begin{array}{l} {\rm ISSN~(p)~2303\text{-}4866,~ISSN~(o)~2303\text{-}4947}\\ {\rm www.imvibl.org~/JOURNALS/JOURNAL}\\ {\it J.~Int.~Math.~Virtual~Inst.,~\bf 15} (1) (2025),~103\text{-}119 \end{array}$

DOI: 10.7251/JIMVI2501103A

Former BULLETIN OF THE SOCIETY OF MATHEMATICIANS BANJA LUKA ISSN 0354-5792 (o), ISSN 1986-521X (p)

INVERSE PROBLEMS FOR DIRAC EQUATIONS WITH A FINITE NUMBER OF TRANSMISSION CONDITIONS DEPENDING HERGLOTZ-NEVANLINNA TYPE FUNCTIONS

Merve Arslantaş and Yalçın Güldü

ABSTRACT. In this study, direct and inverse spectral problem is studied for the system of Dirac equations with rational function of Herglotz-Nevanlinna in boundary and transmission conditions. We give some spectral properties of the problem and also show that the coefficients of the problem are uniquely determined by the Weyl function and classical spectral data consisting of the sequence of two different eigenvalues.

1. Introduction

In this work we consider the system of Dirac equation

(1.1)
$$\ell y(x) := By'(x) + \Omega(x)y(x) = \lambda y(x), x \in [a, b]$$

where
$$B=\begin{pmatrix} 0 & 1 \\ -1 & 0 \end{pmatrix}$$
, $\Omega(x)=\begin{pmatrix} p(x) & q(x) \\ q(x) & r(x) \end{pmatrix}$, $y(x)=\begin{pmatrix} y_1(x) \\ y_2(x) \end{pmatrix}$, real valued functions $p(x)$, $q(x)$ and $r(x)$ are considered within the space $L_2(a,b)$, and λ is identified as the spectral parameter.

We denote by L the boundary value problem generated by equation (1.1) with the following boundary and discontinuity conditions

$$(1.2) U(y) := y_2(a) + f_1(\lambda)y_1(a) = 0$$

$$(1.3) V(y) := y_2(b) + f_2(\lambda)y_1(b) = 0$$

Communicated by Dusko Bogdanic.

²⁰²⁰ Mathematics Subject Classification. Primary 34A55; Secondary 34B24; 34L05.

 $[\]it Key\ words\ and\ phrases.$ Dirac operator, inverse problem, eigenvalue, eigenfunction, Weyl function, Weyl solution.

(1.4)
$$\begin{cases} y_1(\omega_i + 0) - \alpha_i y_1(\omega_i - 0) = 0 \\ y_2(\omega_i + 0) - \alpha_i^{-1} y_2(\omega_i - 0) - h_i(\lambda) y_1(\omega_i - 0) = 0 \end{cases}$$

where $f_1(\lambda)$, $f_2(\lambda)$ and $h_i(\lambda)$ (i = 1, 2, ..., n) are Herglotz-Nevanlinna type functions such that

(1.5)
$$f_{j}(\lambda) = a_{j}\lambda + b_{j} - \sum_{k=1}^{N_{j}} \frac{f_{jk}}{\lambda - g_{jk}}, \quad (j = 1, 2)$$

(1.6)
$$h_i(\lambda) = m_i \lambda + n_i - \sum_{k=1}^{p_i} \frac{u_{ik}}{\lambda - v_{ik}}, \quad (i = 1, 2, \dots, n)$$

 $a_{j}, b_{j}, f_{jk}, g_{ik}, m_{i}, n_{i}, u_{ik}$ and v_{ik} are real numbers, $a_{1} < 0, f_{1k} < 0, a_{2} > 0, f_{2k} > 0, g_{j1} < g_{j2} < \ldots < g_{jN_{j}}, m_{i} > 0, u_{ik} > 0, v_{i1} < v_{i2} < \ldots < v_{ip_{i}}, \alpha_{i} \in R^{+}, a < w_{1} < w_{2} < \cdots < w_{n} < b$. In special case, when $f_{j}(\lambda) = \infty$, conditions (1.2) and (1.3) turn to Dirichlet conditions $y_{1}(a) = y_{1}(b) = 0$ respectively. Moreover, when $h_{i}(\lambda) = \infty$, conditions (1.4) turn to $y_{1}(w_{i} + 0) = y_{1}(w_{i} - 0) = 0, i = 1, 2, \ldots, n$.

 $R_1(\lambda)y_1(a) + R_2(\lambda)y_2(a) = 0$ is a boundary condition depending spectral parameter where $R_1(\lambda)$ and $R_2(\lambda)$ are polynomials(In the specific case where $f_j(\lambda) = \infty$, conditions (1.2) and (1.3) reduce to Dirichlet boundary conditions $y_1(a) = y_1(b) = 0$ respectively. Similarly, if $h_i(\lambda) = \infty$, the conditions (1.4) transform into $y_1(w_i + 0) = y_1(w_i - 0) = 0$, i = 1, 2, ..., n. The boundary condition $R_1(\lambda)y_1(a) + R_2(\lambda)y_2(a) = 0$ depends on the spectral parameter, where $R_1(\lambda)$ and $R_2(\lambda)$ are polynomials. If the degrees of $R_1(\lambda)$ and $R_2(\lambda)$ are both 1, then this condition is linearly dependent on the spectral parameter. Conversely, analyzing higher-degree polynomials $R_1(\lambda)$ and $R_2(\lambda)$ presents more difficulties. When $\frac{R_1(\lambda)}{R_2(\lambda)}$

is a rational function of Herglotz–Nevanlinna type, with $f(\lambda) = a\lambda + b - \sum\limits_{k=1}^{N} \frac{f_k}{\lambda - g_k}$ in boundary conditions, both direct and inverse problems for the Sturm–Liouville operator have been explored. This paper addresses both the direct and inverse spectral problems for systems of Dirac equations, focusing on cases where the boundary and transmission conditions involve a rational function of Herglotz–Nevanlinna.

Eigenvalue-dependent boundary conditions are a common feature in spectral problems encountered across various application areas and mathematical contexts. In 1973, Walter [22] initially focused on an expansion theorem related to this type of eigenvalue problem. In 1977, Fulton explored the Sturm–Liouville eigenvalue problem as well. Various papers have discussed inverse problems for certain differential operators that are linearly dependent on eigenvalues (see [1,2,8,12,14]). A wider variety of boundary conditions is presented in references [3–5,9,10,15,18–21]. On another note, when $f(\lambda)$ takes the form of a rational function of Herglotz–Nevanlinna type, the direct and inverse spectral problems for the Sturm–Liouville operator were analyzed in [6,7,16,17]. In the work referenced as [13], the direct and inverse spectral problems for the Dirac operator have been analyzed in the context of $f(\lambda)$ being a rational function of Herglotz–Nevanlinna type.

This study aims to present uniqueness theorems for the Dirac problem outlined above, specifically when dealing with eigenvalue-dependent rational functions of the Herglotz–Nevanlinna type, relevant to both boundary conditions and a finite number of transmission conditions. We focus on the inverse problem related to the reconstruction of the discussed boundary value problem by utilizing the Weyl function and the spectral data $\{\lambda_n, \mu_n\}_{n \in \mathbb{Z}}$. Despite the fact that the boundary and transmission conditions are not linearly dependent on the spectral parameter, this situation allows for the eigenvalues to be real and normalizing numbers to be defined.

2. Preliminaries

Let's consider the space

 $H := L_2(a,b) \oplus L_2(a,b) \oplus \mathbb{C}^{N_1+1} \oplus \mathbb{C}^{N_2+1} \oplus \mathbb{C}^{p_1+1} \oplus \mathbb{C}^{p_2+1} \oplus \ldots \oplus \mathbb{C}^{p_n+1}$ and element Y in H is in the form $Y = (y(x), v, \tau, w_1, w_2, \ldots, w_n) \in H$, where $y(x) = (y_1(x), y_2(x)), v = (Y_1, Y_2, \ldots, Y_{N_1+1}), \tau = (W_1, W_2, \ldots, W_{N_2+1}), w_i = \left(R_1^{(i)}, R_2^{(i)}, \ldots, R_{p_i+1}^{(i)}\right), (i = 1, 2, \ldots, n).$ H is a Hilbert space with the inner product defined by

$$\langle Y, Z \rangle := \int_{a}^{b} \left(y_{1} \overline{z}_{1} + y_{2} \overline{z}_{2} \right) dx - \frac{Y_{N_{1}+1} \overline{Z}_{N_{1}+1}}{a_{1}} + \frac{W_{N_{2}+1} \overline{W}_{N_{2}+1}}{a_{2}}$$

$$+ \sum_{i=1}^{n} \frac{\alpha_{i}}{m_{i}} R_{p_{i}+1}^{(i)} \overline{R}_{p_{i}+1}^{(i)} - \sum_{k=1}^{N_{1}} Y_{k} \overline{Z}_{k} \left(\frac{1}{f_{1k}} \right)$$

$$+ \sum_{k=1}^{N_{2}} W_{k} \overline{W}_{k} \left(\frac{1}{f_{2k}} \right) + \sum_{i=1}^{n} \sum_{k=1}^{p_{i}} R_{k}^{(i)} \overline{R}_{k}^{(i)} \frac{\alpha_{i}}{u_{ik}}$$

for $Y = (y(x), v, \tau, w_1, w_2, \dots, w_n)$ and $Z = (z(x), v', \tau', w'_1, w'_2, \dots, w'_n)$. Define an operator T with the domain

$$D(T) = \{Y \in H : y(x) = \begin{pmatrix} y_1(x) \\ y_2(x) \end{pmatrix} \in AC[a, b], \ ly \in L_2(a, b),$$

$$y_1(\omega_i + 0) - \alpha_i y_1(\omega_i - 0) = 0, \ (i = 1, 2, \dots, n)\}$$
such that

$$(2.2) TY := (ly, Tv, T\tau, Tw_1, Tw_2, \dots, Tw_n)$$

where

(2.3)
$$Tv = TY_i = \begin{cases} g_{1i}Y_i - f_{1i}y_1(a), & i = 1, 2, \dots, N_1 \\ y_2(a) + b_1y_1(a) + \sum_{k=1}^{N_1} Y_k, & i = N_1 + 1 \end{cases}$$

(2.4)
$$T\tau = TW_{i} = \begin{cases} g_{2i}W_{i} - f_{2i}y_{1}(b), & i = 1, 2, \dots, N_{2} \\ y_{2}(b) + b_{2}y_{1}(b) + \sum_{k=1}^{N_{2}} W_{k}, & i = N_{2} + 1 \end{cases}$$

$$(2.5) \quad \begin{aligned} Tw_1 &= TR_k^{(1)} \\ &= \begin{cases} v_{1k}R_k^{(1)} - u_{1k}y_1\left(\omega_1^-\right), & k = 1, 2, \dots, p_1 \\ -y_2(\omega_1^+) + \alpha_1^{-1}y_2(\omega_1^-) + n_1y_1\left(\omega_1^-\right) + \sum_{i=1}^{p_1} R_i^{(1)}, & k = p_1 + 1 \end{cases} \end{aligned}$$

$$(2.6) \quad Tw_{2} = TR_{k}^{(2)}$$

$$= \begin{cases} v_{2k}R_{k}^{(2)} - u_{2k}y_{1}(\omega_{2}^{-}), & k = 1, 2, \dots, p_{2} \\ -y_{2}(\omega_{2}^{+}) + \alpha_{2}^{-1}y_{2}(\omega_{2}^{-}) + n_{2}y_{1}(\omega_{2}^{-}) + \sum_{i=1}^{p_{2}} R_{i}^{(2)}, & k = p_{2} + 1 \end{cases}$$

$$Tw_{n} = TR_{k}^{(n)}$$

$$= \begin{cases} v_{nk}R_{k}^{(n)} - u_{nk}y_{1}(\omega_{n}^{-}), & k = 1, 2, \dots, p_{n} \\ -y_{2}(\omega_{n}^{+}) + \alpha_{n}^{-1}y_{2}(\omega_{n}^{-}) + n_{n}y_{1}(\omega_{n}^{-}) + \sum_{i=1}^{p_{n}} R_{i}^{(n)}, & k = p_{n} + 1 \end{cases}$$

Accordingly, equality $TY = \lambda Y$ corresponds to problem (1.1) - (1.4) under the domain $D(T) \subset H$. The following theorem could be proved by using definition of T.

THEOREM 2.1. The eigenvalue problem of operator T is adequate problem of (1.1) - (1.4), i.e., eigenvalues of operator T and problem (1.1) - (1.4) coincide.

PROOF. Assume that λ is an eigenvalue of T and $Y = (y(x), v, \tau, w_1, w_2, \ldots, w_n) \in H$ is the eigenvector corresponding to λ . Since $Y \in D(T)$, it is obvious that the condition $y_1(\omega_i + 0) - \alpha_i y_1(\omega_i - 0) = 0$ and equation (1.1) hold. On the other hand, boundary conditions (1.2) – (1.3) and the second condition of (1.4) are satisfied by the following equalities;

$$Tv = TY_{i} = g_{1i}Y_{i} - f_{1i}y_{1}(a) = \lambda Y_{i}, \quad i = 1, 2, \dots, N_{1},$$

$$TY_{N_{1}+1} = y_{2}(a) + b_{1}y_{1}(a) + \sum_{k=1}^{N_{1}} Y_{k} = -a_{1}y_{1}(a) \lambda,$$

$$T\tau = TW_{i} = g_{2i}W_{i} - f_{2i}y_{1}(b) = \lambda W_{i}, \quad i = 1, 2, \dots, N_{2},$$

$$TW_{N_{2}+1} = y_{2}(b) + b_{2}y_{1}(b) + \sum_{k=1}^{N_{2}} W_{k} = -a_{2}y_{1}(b) \lambda,$$

$$Tw_{1} = TR_{k}^{(1)} = v_{1k}R_{k}^{(1)} - u_{1k}y_{1}(\omega_{1}^{-}), \quad k = 1, 2, \dots, p_{1},$$

$$TR_{p_{1}+1}^{(1)} = -y_{2}(\omega_{1}^{+}) + \alpha_{1}^{-1}y_{2}(\omega_{1}^{-}) + n_{1}y_{1}(\omega_{1}^{-}) + \sum_{k=1}^{p_{1}} R_{k}^{(1)} = -m_{1}y_{1}(\omega_{1}^{-}) \lambda,$$

$$Tw_{2} = TR_{k}^{(2)} = v_{2k}R_{k}^{(2)} - u_{2k}y_{1}(\omega_{2}^{-}), \quad k = 1, 2, \dots, p_{2},$$

$$TR_{p_{2}+1}^{(2)} = -y_{2}(\omega_{2}^{+}) + \alpha_{2}^{-1}y_{2}(\omega_{2}^{-}) + n_{2}y_{1}(\omega_{2}^{-}) + \sum_{k=1}^{p_{2}} R_{k}^{(2)} = -m_{2}y_{1}(\omega_{2}^{-}) \lambda,$$

:

$$Tw_{N} = TR_{k}^{(n)} = v_{nk}R_{k}^{(n)} - u_{nk}y_{1}(\omega_{n}^{-}), \quad k = 1, 2, \dots, p_{n},$$

$$TR_{p_{n+1}}^{(n)} = -y_{2}(\omega_{n}^{+}) + \alpha_{n}^{-1}y_{2}(\omega_{n}^{-}) + n_{n}y_{1}(\omega_{n}^{-}) + \sum_{k=1}^{p_{n}} R_{k}^{(n)} = -m_{n}y_{1}(\omega_{n}^{-}) \lambda.$$

If $\lambda = g_{jk}$ $(j = 1, 2 \text{ and } k = 1, 2, \dots, N_j)$ are eigenvalues of operator T, then, from above equalities and the domain of T, equalities (1.1), $y_1(a, g_{1k}) = 0$, $y_1(b, g_{2k}) = 0$ and (1.4) are satisfied.

Moreover, if $\lambda = v_{ik}$ $(i = 1, 2 \text{ and } k = 1, 2, \dots, p_i)$ are eigenvalues of operator T, from above equalities and the domain of T, equations (1.1) – (1.3) and $y_1(\omega_i^-, v_{ik}) =$ $0 = y_1(\omega_i^+, v_{ik})$ are valid. In that case, λ is also an eigenvalue of L.

Conversely, let λ be an eigenvalue of L and $\begin{pmatrix} y_1(x,\lambda) \\ y_2(x,\lambda) \end{pmatrix}$ be an eigenfunction corresponding to λ . If $\lambda \neq g_{ik}$ and $\lambda \neq v_{ik}$ then, it is clear that λ is an eigenvalue of T and the vector

$$Y = \left(y_{1}\left(x\right), y_{2}\left(x\right), \frac{f_{11}}{g_{11} - \lambda}y_{1}(a), \frac{f_{12}}{g_{12} - \lambda}y_{1}(a), \dots, \frac{f_{1N_{1}}}{g_{1N_{1}} - \lambda}y_{1}(a), -a_{1}y_{1}\left(a\right), \frac{f_{21}}{g_{21} - \lambda}y_{1}(b), \frac{f_{22}}{g_{22} - \lambda}y_{1}(b), \dots, \frac{f_{2N_{2}}}{g_{2N_{2}} - \lambda}y_{1}(b), -a_{2}y_{1}\left(b\right), \frac{u_{11}}{v_{11} - \lambda}y_{1}(\omega_{1}^{-}), \frac{u_{12}}{v_{12} - \lambda}y_{1}(\omega_{1}^{-}), \dots, \frac{u_{1p_{1}}}{v_{1p_{1}} - \lambda}y_{1}(\omega_{1}^{-}), -m_{1}y_{1}\left(\omega_{1}^{-}\right), \frac{u_{22}}{v_{21} - \lambda}y_{1}(\omega_{2}^{-}), \dots, \frac{u_{2p_{2}}}{v_{2p_{2}} - \lambda}y_{1}(\omega_{2}^{-}), -m_{2}y_{1}\left(\omega_{2}^{-}\right), \dots, \frac{u_{n1}}{v_{n1} - \lambda}y_{1}(\omega_{n}^{-}), \frac{u_{n2}}{v_{n2} - \lambda}y_{1}(\omega_{n}^{-}), \dots, \frac{u_{2p_{n}}}{v_{2p_{n}} - \lambda}y_{1}(\omega_{n}^{-}), -m_{n}y_{1}\left(\omega_{n}^{-}\right)\right)$$

is the eigenvector corresponding to λ .

If
$$\lambda = g_{1k}$$
, then

$$Y = (y_1(x), y_2(x), Y_1, Y_2, \dots, Y_{N_1}, 0, W_1, W_2, \dots, W_{N_2}, W_{N_2+1}, R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1+1}^{(1)}, R_2^{(2)}, \dots, R_{p_2+1}^{(2)}, \dots, R_1^{(n)}, R_2^{(n)}, \dots, R_{p_n+1}^{(n)}),$$

$$Y_i = \begin{cases} 0, & i \neq k \\ -y_2(a), & i = k \end{cases}, i = 1, 2, \dots, N_1$$

If
$$\lambda = g_{2k}$$
, then

$$Y = (y_1(x), y_2(x), Y_1, Y_2, \dots, Y_{N_1}, Y_{N_1+1}, W_1, W_2, \dots, W_{N_2}, 0, R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1+1}^{(1)}, R_1^{(2)}, R_2^{(2)}, \dots, R_{p_2+1}^{(2)}, \dots, R_1^{(n)}, R_2^{(n)}, \dots, R_{p_n+1}^{(n)}),$$

$$W_{i} = \begin{cases} 0, & i \neq k \\ -y_{2}(b), & i = k \end{cases}, i = 1, 2, \dots, N_{2}$$

is the eigenvector of T corresponding to g_{2k} .

Furthermore, if $\lambda = v_{1k}$, then

$$Y = (y_1(x), y_2(x), Y_1, Y_2, \dots, Y_{N_1}, Y_{N_1+1}, W_1, W_2, \dots, W_{N_2}, W_{N_2+1}, R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1}^{(1)}, 0, R_1^{(2)}, R_2^{(2)}, \dots, R_{p_2+1}^{(2)}, \dots, R_1^{(n)}, R_2^{(n)}, \dots, R_{p_n+1}^{(n)})$$

$$R_i^{(1)} = \begin{cases} 0, & i \neq k \\ y_2(\omega_1^+) - \alpha_1^{-1} y_2(\omega_1^-), & i = k \end{cases}, i = 1, 2, \dots, p_1$$

If $\lambda = v_{2k}$, then

$$Y = (y_1(x), y_2(x), Y_1, Y_2, \dots, Y_{N_1}, Y_{N_1+1}, W_1, W_2, \dots, W_{N_2}, W_{N_2+1}, \dots, W_{N_2}, \dots, W_$$

$$R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1}^{(1)}, R_{p_1+1}^{(1)}, R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1}^{(1)}, R_{p_1+1}^{(1)},$$

$$R_1^{(2)}, R_2^{(2)}, \dots, R_{p_2}^{(2)}, 0, \dots, R_1^{(n)}, R_2^{(n)}, \dots, R_{p_n+1}^{(n)}$$

$$R_i^{(2)} = \begin{cases} 0, & i \neq k \\ y_2(\omega_2^+) - \alpha_2^{-1} y_2(\omega_2^-), & i = k \end{cases}, i = 1, 2, \dots, p_2$$

If it continues like this, $\lambda = v_{nk}$, then

$$Y = (y_1(x), y_2(x), Y_1, Y_2, \dots, Y_{N_1}, Y_{N_1+1}, W_1, W_2, \dots, W_{N_2}, W_{N_2+1},$$

$$R_1^{(1)}, R_2^{(1)}, \dots, R_{p_1}^{(1)}, R_{p_1+1}^{(1)}, R_1^{(2)}, R_2^{(2)}, \dots, R_{p_2+1}^{(2)}, \dots, R_1^{(n)}, R_2^{(n)}, \dots, R_{p_n}^{(n)}, 0$$

$$R_i^{(n)} = \left\{ \begin{array}{ll} 0, & i \neq k \\ y_2(\omega_n^+) - \alpha_n^{-1} y_2(\omega_n^-), & i = k \end{array} \right., \, i = 1, 2, \dots, p_n$$
 is the eigenvector of T corresponding to v_{nk} .

It is possible to write $f_i(\lambda)$ (j=1,2) as follows:

$$f_1(\lambda) = \frac{a_1(\lambda)}{a_2(\lambda)}, \ f_2(\lambda) = \frac{b_1(\lambda)}{b_2(\lambda)}, \text{ where}$$

$$a_1(\lambda) = (a_1\lambda + b_1) \prod_{k=1}^{N_1} (\lambda - g_{1k}) - \sum_{k=1}^{N_1} \prod_{i=1}^{N_1} \int_{i \neq k}^{N_1} f_{1k} (\lambda - g_{1k}),$$

$$a_2(\lambda) = \prod_{k=1}^{N_1} (\lambda - g_{1k}) ,$$

$$b_1(\lambda) = (a_2\lambda + b_2) \prod_{k=1}^{N_2} (\lambda - g_{2k}) - \sum_{k=1}^{N_2} \prod_{j=1(j \neq k)}^{N_2} f_{2k} (\lambda - g_{2k}),$$

$$b_2(\lambda) = \prod_{k=1}^{N_2} (\lambda - g_{2k}).$$

Assume that $b_1(\lambda)$ and $b_2(\lambda)$ do not have common zeros.

Let the functions $\varphi(x,\lambda) = \varphi_i(x,\lambda) = (\varphi_{i1}(x,\lambda), \varphi_{i2}(x,\lambda))^T$ and $\psi(x,\lambda) = \psi_i(x,\lambda) = (\psi_{i1}(x,\lambda), \psi_{i2}(x,\lambda))^T$, $x \in (\omega_i, \omega_{i+1})$, (i = 0, 1, ..., n) be solutions of equation (1.1) satisfying the initial conditions

(2.8)
$$\varphi_{0}(a,\lambda) = \begin{pmatrix} \varphi_{01}(a,\lambda) \\ \varphi_{02}(a,\lambda) \end{pmatrix} = \begin{pmatrix} -a_{2}(\lambda) \\ a_{1}(\lambda) \end{pmatrix},$$

$$\psi_{n}(b,\lambda) = \begin{pmatrix} \psi_{n1}(b,\lambda) \\ \psi_{n2}(b,\lambda) \end{pmatrix} = \begin{pmatrix} -b_{2}(\lambda) \\ b_{1}(\lambda) \end{pmatrix}$$

and the transmission conditions (1.4) such that $\varphi(x,\lambda) = \varphi_i(x,\lambda)$, $w_i < x < w_{i+1}$, (i = 0, 1, ..., n), $\psi(x,\lambda) = \psi_i(x,\lambda)$, $w_i < x < w_{i+1}$, (i = n, n-1, ..., 1) where $w_0 = a$, $w_{n+1} = b$.

Then it can be easily proven that $\varphi(x,\lambda)$ and $\psi(x,\lambda)$ are the solutions of the following integral equations:

$$\begin{split} &\text{for } i=1,2,\ldots,n;\\ &\varphi_{i1}(x,\lambda)=\alpha_{i}\varphi_{i-1,1}(\omega_{i},\lambda)\cos\lambda\left(x-\omega_{i}\right)\\ &-\left(\alpha_{i}^{-1}\varphi_{i-1,2}(\omega_{i},\lambda)+h_{i}\left(\lambda\right)\varphi_{i-1,1}(\omega_{i},\lambda)\right)\sin\lambda\left(x-\omega_{i}\right)\\ &+\int_{\omega_{i}}^{x}\left[p(t)\sin\lambda\left(x-t\right)+q(t)\cos\lambda\left(x-t\right)\right]\varphi_{i1}(t,\lambda)dt\\ &+\int_{\omega_{i}}^{x}\left[q(t)\sin\lambda\left(x-t\right)+r(t)\cos\lambda\left(x-t\right)\right]\varphi_{i2}(t,\lambda)dt,\\ &\varphi_{i2}(x,\lambda)=\alpha_{i}\varphi_{i-1,1}(\omega_{i},\lambda)\sin\lambda\left(x-\omega_{i}\right)\\ &+\left(\alpha_{i}^{-1}\varphi_{i-1,2}(\omega_{i},\lambda)+h_{i}\left(\lambda\right)\varphi_{i-1,1}(\omega_{i},\lambda)\right)\cos\lambda\left(x-\omega_{i}\right)\\ &+\int_{\omega_{i}}^{x}\left[-p(t)\cos\lambda\left(x-t\right)+q(t)\sin\lambda\left(x-t\right)\right]\varphi_{i1}(t,\lambda)dt\\ &+\int_{\omega_{i}}^{x}\left[-q(t)\cos\lambda\left(x-t\right)+r(t)\sin\lambda\left(x-t\right)\right]\varphi_{i2}(t,\lambda)dt,\\ &\text{for } i=n,n-1,\ldots,1;\\ &\psi_{i1}(x,\lambda)=\alpha_{i}^{-1}\psi_{i+1,1}(\omega_{i},\lambda)\cos\lambda\left(\omega_{i}-x\right)\\ &+\left(\alpha_{i}\psi_{i+1,2}(\omega_{i},\lambda)-h_{i}\left(\lambda\right)\psi_{i+1,1}(\omega_{i},\lambda)\right)\sin\lambda\rho_{i-1}\left(\omega_{i}-x\right)\\ &-\int_{x}^{\omega_{i}}\left[p(t)\sin\lambda\left(x-t\right)+q(t)\cos\lambda\left(x-t\right)\right]\psi_{i1}(t,\lambda)dt\\ &-\int_{x}^{\omega_{i}}\left[q(t)\sin\lambda\left(x-t\right)+r(t)\cos\lambda\left(x-t\right)\right]\psi_{i2}(t,\lambda)dt,\\ &\psi_{i2}(x,\lambda)=-\alpha_{i}^{-1}\psi_{i+1,1}(\omega_{i},\lambda)\sin\lambda\left(\omega_{i}-x\right)\\ &+\left(\alpha_{i}\psi_{i+1,2}(\omega_{i},\lambda)-h_{i}\left(\lambda\right)\psi_{i+1,1}(\omega_{i},\lambda\right)\cos\lambda\left(\omega_{i}-x\right)\\ &+\int_{x}^{\omega_{i}}\left[p(t)\cos\lambda\left(x-t\right)-q(t)\sin\lambda\left(x-t\right)\right]\psi_{i2}(t,\lambda)dt\\ &+\int_{x}^{\omega_{i}}\left[q(t)\cos\lambda\left(x-t\right)-r(t)\sin\lambda\left(x-t\right)\right]\psi_{i2}(t,\lambda)dt\\ &+\int_{x}^{\omega_{i}}\left[q(t)\cos\lambda\left(x-t\right)-r(t)\sin\lambda\left(x-t\right)\right]\psi_{i2}(t,\lambda)dt \end{split}$$

LEMMA 2.1. $\varphi(x,\lambda) = (\varphi_{i1}(x,\lambda), \varphi_{i2}(x,\lambda))^T$, $x \in (\omega_i, \omega_{i+1})$, (i = 0, 1, ..., n) are entire functions in λ and the following asymptotic relations are true for these solutions as $|\lambda| \to \infty$.

$$\varphi_{01}(x,\lambda) = -a_1 \lambda^{N_1+1} \sin \lambda(x-a) + o(\lambda^{N_1+1} \exp |Im\lambda| (x-a)),$$

$$\varphi_{02}(x,\lambda) = a_1 \lambda^{N_1+1} \cos \lambda(x-a) + o(\lambda^{N_1+1} \exp |Im\lambda| (x-a) \rho_0),$$

$$\begin{split} &\varphi_{11}(x,\lambda) = m_1 a_1 \lambda^{N_1 + p_1 + 2} \sin \lambda(\omega_1 - a) \sin \lambda \left(x - \omega_1\right) \\ &\quad + o(\lambda^{N_1 + p_1 + 2} \exp|Im\lambda| \left((\omega_1 - a) + (x - \omega_1)\right), \\ &\varphi_{12}(x,\lambda) = -m_1 a_1 \lambda^{N_1 + p_1 + 2} \sin \lambda(\omega_1 - a) \cos \lambda(x - \omega_1) \\ &\quad + o(\lambda^{N_1 + p_1 + 2} \exp|Im\lambda| \left((\omega_1 - a) + (x - \omega_1)\right), \\ &\vdots \\ &\varphi_{n1}(x,\lambda) = (-1)^{n+1} a_1 \lambda^{N_1 + p_1 + p_2 + \ldots + p_n + n + 1} \left(\prod_{i=1}^n m_i\right) \sin \lambda(\omega_1 - a) \sin \lambda \left(x - \omega_n\right) \times \\ &\prod_{i=2}^n \sin \lambda \left(\omega_i - \omega_{i-1}\right) + o(\lambda^{N_1 + p_1 + p_2 + \ldots + p_n + n + 1} \exp|Im\lambda| \left((b - \omega_n) + \sum_{i=1}^n \left(\omega_i - \omega_{i-1}\right)\right), \\ &\varphi_{n2}(x,\lambda) = (-1)^n a_1 \lambda^{N_1 + p_1 + p_2 + \ldots + p_n + n + 1} \exp|Im\lambda| \left((b - \omega_n) + \sum_{i=1}^n \left(\omega_i - \omega_{i-1}\right)\right), \\ &\prod_{i=2}^n \sin \lambda \left(\omega_i - \omega_{i-1}\right) + o(\lambda^{N_1 + p_1 + p_2 + \ldots + p_n + n + 1} \exp|Im\lambda| \left((b - \omega_n) + \sum_{i=1}^n \left(\omega_i - \omega_{i-1}\right)\right), \\ &where \ A = r_1 + r_2 + \cdots + r_n \ . \\ &\text{Lemma 2.2. } \psi(x,\lambda) = \left(\psi_{i1}(x,\lambda), \psi_{i2}(x,\lambda)\right)^T, \ x \in \left(\omega_i, \omega_{i+1}\right), \ (i = 0, 1, \ldots, n) \\ &are \ entire \ functions \ in \ \lambda \ and \ the \ following \ asymptotic \ relations \ are \ true \ for \ these \ solutions \ as \ |\lambda| \to \infty. \\ &\psi_{01}(x,\lambda) = (-1)^n a_2 \lambda^{N_2 + p_1 + p_2 + \ldots + p_n + n + 1} \left(\prod_{i=1}^n m_i\right) \sin \lambda(x - \omega_1) \sin \lambda(b - \omega_n) \times \\ &\prod_{i=2}^n \sin \lambda \left(\omega_i - \omega_{i-1}\right) + o(\lambda^{N_2 + p_1 + p_2 + \ldots + p_n + n + 1} \exp|Im\lambda| \left((x - \omega_1) + \sum_{i=1}^n \left(\omega_i - \omega_{i-1}\right)\right), \\ &\psi_{02}(x,\lambda) = (-1)^n a_2 \lambda^{N_2 + p_1 + p_2 + \ldots + p_n + n + 1} \exp|Im\lambda| \left((x - \omega_1) + \sum_{i=1}^n \left(\omega_i - \omega_{i-1}\right)\right), \\ &\vdots \\ &\psi_{n-1,1}(x,\lambda) = -m_1 a_2 \lambda^{N_2 + p_1 + 2} \sin \lambda(b - \omega_n) \sin \lambda(\omega_n - x) \\ &\quad + o(\lambda^{N_2 + p_n + 2} \exp|Im\lambda| \left((b - \omega_n) + (\omega_n - x)\right), \\ &\psi_{n-1,2}(x,\lambda) = a_2 \lambda^{N_2 + p_n + 2} \sin \lambda(b - \omega_n) \cos \lambda(\omega_n - x) \\ &\quad + o(\lambda^{N_2 + p_n + 2} \exp|Im\lambda| \left((b - \omega_n) + (\omega_n - x)\right), \\ &\psi_{n-1,1}(x,\lambda) = a_2 \lambda^{N_2 + p_n + 2} \sin \lambda(b - x) + o(\lambda^{N_2 + 1} \exp|Im\lambda| \left((b - x)\right), \\ \end{aligned}$$

 $\psi_{n2}(x,\lambda) = a_2 \lambda^{N_2+1} \cos \lambda (b-x) + o(\lambda^{N_2+1} \exp |Im\lambda| (b-x)).$

On the other hand, the Wronskian of the functions $\varphi(x,\lambda)$ and $\psi(x,\lambda)$ is defined by $W[\psi,\varphi] = \Delta(\lambda) = \psi_1(x,\lambda)\varphi_2(x,\lambda) - \varphi_1(x,\lambda)\psi_2(x,\lambda)$. Since

$$\frac{\partial \Delta(\lambda)}{\partial x} = \psi_1'(x,\lambda) \, \varphi_2(x,\lambda) + \psi_1(x,\lambda) \, \varphi_2'(x,\lambda)$$

$$-\psi_2'(x,\lambda) \, \varphi_1(x,\lambda) - \psi_2(x,\lambda) \, \varphi_1'(x,\lambda)$$

$$= [q(x)\psi_1(x,\lambda) + r(x)\psi_2(x,\lambda) - \lambda\psi_2(x,\lambda)] \, \varphi_2(x,\lambda)$$

$$+ [-p(x)\varphi_1(x,\lambda) - q(x)\varphi_2(x,\lambda) + \lambda\varphi_1(x,\lambda)] \, \psi_1(x,\lambda)$$

$$- [-p(x)\psi_1(x,\lambda) - q(x)\psi_2(x,\lambda) + \lambda\psi_1(x,\lambda)] \, \varphi_1(x,\lambda)$$

$$- [q(x)\psi_1(x,\lambda) + r(x)\varphi_2(x,\lambda) - \lambda\varphi_2(x,\lambda)] \, \psi_2(x,\lambda) = 0$$
and
$$\Delta(\omega_i + 0) = \psi_1(\omega_i + 0,\lambda) \, \varphi_2(\omega + 0,\lambda) - \psi_2(\omega_i + 0,\lambda) \, \varphi_1(\omega_i + 0,\lambda)$$

$$= \alpha_i \psi_1(\omega_i - 0,\lambda) \, [\alpha_i^{-1} \varphi_2(\omega_i - 0,\lambda) + h_i(\lambda) \, \varphi_1(\omega_i - 0,\lambda)]$$

$$- [\alpha_i^{-1} \psi_2(\omega_i - 0,\lambda) + h_i(\lambda) \, \psi_1(\omega_i - 0,\lambda)] \, \alpha_i \varphi_1(\omega_i - 0,\lambda)$$

$$= \psi_1(\omega_i - 0,\lambda) \, \varphi_2(\omega_i - 0,\lambda) - \psi_2(\omega_i - 0,\lambda) \, \varphi_1(\omega_i - 0,\lambda)$$

$$= \Delta(\omega_i - 0).$$

 $W\left[\psi,\varphi\right]$ does not depend on x and $\varphi(x,\lambda),\,\psi(x,\lambda)$ are linearly independent iff $W\left[\psi,\varphi\right]\neq0$. The characteristic function of the problem (1.1)-(1.4) is defined as following:

$$\begin{split} \Delta(\lambda) &= \psi_1(b,\lambda)\varphi_2(b,\lambda) - \psi_2(b,\lambda)\varphi_1(b,\lambda) \\ &= \psi_1(a,\lambda)\varphi_2(a,\lambda) - \psi_2(a,\lambda)\varphi_1(a,\lambda) \\ &= -b_2\left(\lambda\right)\varphi_2(b,\lambda) - b_1\left(\lambda\right)\varphi_1(b,\lambda) \\ &= a_1\left(\lambda\right)\psi_1(a,\lambda) + a_2\left(\lambda\right)\psi_2(a,\lambda). \end{split}$$

 $\Delta(\lambda)$ is analytic function in λ and it's zeros are precisely eigenvalues of the problem L. Numbers $\{\alpha_n\}_{n\in\mathbb{Z}}$ are called the normalizing constant of the problem

(1.1) - (1.4) such that

$$\alpha_{n} : = \langle \varphi(x, \lambda_{n}), \varphi(x, \lambda_{n}) \rangle = \int_{a}^{b} (\varphi_{1}^{2} + \varphi_{2}^{2}) dx$$

$$- \frac{(-a_{1}\varphi_{1}(a, \lambda_{n})) (-a_{1}\varphi_{1}(a, \lambda_{n}))}{a_{1}}$$

$$+ \frac{(-a_{2}\varphi_{1}(b, \lambda_{n})) (-a_{2}\varphi_{1}(b, \lambda_{n}))}{a_{2}}$$

$$+ \sum_{i=1}^{n} \alpha_{i} \frac{(-m_{i}\varphi_{1}(\omega_{i}^{-}, \lambda_{n})) ((-m_{i}\varphi_{1}(\omega_{i}^{-}, \lambda_{n})))}{m_{i}}$$

$$- \sum_{k=1}^{N_{1}} \left(\frac{-f_{1k}\varphi_{1}(a, \lambda_{n})}{\lambda_{1} - g_{1k}} \right) \left(\frac{-f_{1k}\varphi_{1}(a, \lambda_{n})}{\lambda_{2} - g_{1k}} \right) \frac{1}{f_{1k}}$$

$$+ \sum_{k=1}^{N_{2}} \left(\frac{-f_{2k}\varphi_{1}(b, \lambda_{n})}{\lambda_{1} - g_{2k}} \right) \left(\frac{-f_{2k}\varphi_{1}(b, \lambda_{n})}{\lambda_{2} - g_{2k}} \right) \frac{1}{f_{2k}}$$

$$+ \sum_{k=1}^{p_{i}} \alpha_{i} \left(\frac{-u_{ik}\varphi_{1}(\omega_{i}^{-}, \lambda_{n})}{\lambda_{1} - v_{ik}} \right) \left(\frac{-u_{ik}\varphi_{1}(\omega_{i}^{-}, \lambda_{n})}{\lambda_{2} - v_{ik}} \right) \frac{1}{u_{ik}}$$

$$= \int_{a}^{b} (\varphi_{1}^{2} + \varphi_{2}^{2}) dx - \varphi_{1}^{2}(a, \lambda_{n}) f_{1}'(\lambda_{n})$$

$$+ \varphi_{1}^{2}(b, \lambda_{n}) f_{2}'(\lambda_{n}) + \sum_{i=1}^{n} \alpha_{i}\varphi_{1}^{2}(\omega_{i}^{-}, \lambda_{n}) h_{i}'(\lambda_{n}).$$

LEMMA 2.3. The following equality holds for each eigenvalue λ_n

$$\dot{\Delta}\left(\lambda_n\right) = -\beta_n \alpha_n,$$

where $\{\beta_n\}_{n\in\mathbb{Z}}$ is the sequence that provides the equation $\psi(x,\lambda_n)=\beta_n\varphi(x,\lambda_n)$.

PROOF. Since

$$\varphi_2'(x,\lambda_n) + p(x)\varphi_1(x,\lambda_n) + q(x)\varphi_2(x,\lambda_n) = \lambda_n\varphi_1(x,\lambda_n),$$

$$\psi_2'(x,\lambda) + p(x)\psi_1(x,\lambda) + q(x)\psi_2(x,\lambda) = \lambda\psi_1(x,\lambda)$$

and

$$-\varphi_1'(x,\lambda_n) + q(x)\varphi_1(x,\lambda_n) + r(x)\varphi_2(x,\lambda_n) = \lambda_n\varphi_2(x,\lambda_n)$$

$$-\psi_1'(x,\lambda) + q(x)\psi_1(x,\lambda) + r(x)\psi_2(x,\lambda) = \lambda\psi_2(x,\lambda)$$

we obtain

$$\varphi_1(x,\lambda_n)\psi_2(x,\lambda) - \varphi_2(x,\lambda_n)\psi_1(x,\lambda) \left(\begin{vmatrix} \omega_1 \\ a \end{vmatrix} + \begin{vmatrix} \omega_2 \\ \omega_1 \end{vmatrix} + \dots + \begin{vmatrix} b \\ \omega_n \end{vmatrix} \right)$$

$$= (\lambda - \lambda_n) \int_a^b \left[\varphi_1(x,\lambda_n)\psi_1(x,\lambda) - \varphi_2(x,\lambda_n)\psi_2(x,\lambda) \right] dx.$$

After adding and subtracting $\Delta(\lambda)$ on the left hand side of last equality and by using (1.2) - (1.4) we can obtain

$$\int_{a}^{b} \left[\varphi_{1}(x,\lambda_{n})\psi_{1}(x,\lambda) - \varphi_{2}(x,\lambda_{n})\psi_{2}(x,\lambda) \right] dx$$

$$+ \sum_{i=1}^{n} \alpha_{i}\psi_{1}(\omega_{i}^{-},\lambda)\varphi_{1}(\omega_{i}^{-},\lambda_{n}) \left(h_{i}(\lambda) - h_{i}(\lambda_{n}) \right)$$

$$- \varphi_{1}(a,\lambda_{n})\psi_{1}(a,\lambda) \left(f_{1}(\lambda) - f_{1}(\lambda_{n}) \right)$$

$$+ \varphi_{1}(b,\lambda_{n})\psi_{1}(b,\lambda) \left(f_{2}(\lambda) - f_{2}(\lambda_{n}) \right)$$

$$+ f_{2}(\lambda_{n}) \psi_{1}(b,\lambda)\varphi_{1}(b,\lambda_{n}) + \psi_{1}(b,\lambda)\varphi_{2}(b,\lambda_{n})$$

$$- a_{2}(\lambda_{n})\psi_{2}(a,\lambda) - a_{2}(\lambda_{n})f_{1}(\lambda) \psi_{1}(a,\lambda)$$

$$+ a_{2}(\lambda)\psi_{2}(a,\lambda) + a_{2}(\lambda)f_{1}(\lambda) \psi_{1}(a,\lambda)$$

$$= -\frac{\Delta(\lambda) - \Delta(\lambda_{n})}{\lambda - \lambda_{n}}.$$

For $\lambda \to \lambda_n$, $\dot{\Delta}(\lambda_n) = -\beta_n \alpha_n$ is obtained by using the equalities $\psi(x, \lambda_n) =$ $\beta_n \varphi(x, \lambda_n)$ and (2.1).

It can easily be seen from the above lemma that the eigenvalues of the problem L are simple.

3. Inverse problem

From the asymptotic formulas of $\varphi(x,\lambda)$ and $\psi(x,\lambda)$, the following asymptotic formulas hold as $|\lambda| \to \infty$:

$$\Delta(\lambda) = (-1)^n a_1 a_2 \lambda^{N_1 + N_2 + p_1 + p_2 + \dots + p_n + n + 2} \left(\prod_{i=1}^n m_i \right) \sin \lambda (\omega_1 - a) \sin \lambda (b - \omega_n)$$

$$\times \prod_{i=2}^n \sin \lambda (\omega_i - \omega_{i-1})$$

$$+o(\lambda^{N_1+N_2+p_1+p_2+...+p_n+n+2}\exp|\text{Im}\lambda|((b-\omega_n)+\sum_{i=1}^n(\omega_i-\omega_{i-1})).$$

Let $\delta > 0$ be sufficiently small and fixed. Denote

$$G_{\delta} := \left\{ \lambda : \left| \lambda - \lambda_n^0 \right| \geqslant \delta, \ n = 0, \pm 1, \pm 2, \ldots \right\}.$$

$$|\Delta(\lambda)| \geqslant C_{\delta} |\lambda|^{N_1 + N_2 + p_1 + p_2 + \dots + p_n + n + 2} \exp |\tau| b, \ \lambda \in G_{\delta}, \ |\lambda| \geqslant \lambda^*$$

for sufficiently large $\lambda^* = \lambda^* (\delta)$. Let $\Phi(x, \lambda) = \begin{pmatrix} \Phi_1(x, \lambda) \\ \Phi_2(x, \lambda) \end{pmatrix}$ be solution of equation (1.1) under the conditions Wronskian of $\varphi(x,\lambda)$ and $\Phi(x,\lambda)$.

The Wronskian $W[\varphi, \Phi]$ does not depend on x. Taking x = a we get

$$\begin{split} W\left[\varphi,\Phi\right]|_{x=a} &= \varphi_{1}\left(a,\lambda\right)\Phi_{2}\left(a,\lambda\right) - \varphi_{2}\left(a,\lambda\right)\Phi_{1}\left(a,\lambda\right) \\ &= -a_{2}\left(\lambda\right)\Phi_{2}\left(a,\lambda\right) - a_{1}\left(\lambda\right)\Phi_{1}\left(a,\lambda\right) \\ &= -a_{2}\left(\lambda\right)\left(1 + a_{1}\left(\lambda\right)\Phi_{1}\left(a,\lambda\right)\right)\frac{-1}{a_{2}\left(\lambda\right)} - a_{1}\left(\lambda\right)\Phi_{1}\left(a,\lambda\right) = 1. \end{split}$$

Thus,

$$W[\varphi, \Phi] \equiv 1.$$

Since $l_2(\Phi) = l_2(\Psi) = 0$, we may suppose $\Phi(x, \lambda) = k\Psi(x, \lambda)$, where k is a constant independent of x. By the relation $l_1(\Phi) = 1$, we obtain

$$k \left[a_1(\lambda) \Psi_1(a,\lambda) + a_2(\lambda) \Psi_2(a,\lambda) \right] = 1.$$

In view of

$$\Delta(\lambda) = -l_1(\Psi) = -a_1(\lambda)\Psi_1(a,\lambda) - a_2(\lambda)\Psi_2(a,\lambda) = -\frac{1}{k}$$

we get
$$\Phi\left(x,\lambda\right)=-\frac{\Psi\left(x,\lambda\right)}{\Delta\left(\lambda\right)}$$
 i.e. $\Phi_{i}\left(x,\lambda\right)=-\frac{\Psi_{i}\left(x,\lambda\right)}{\Delta\left(\lambda\right)}$ $(i=1,2)$ for $\lambda\neq\lambda_{n}.$

Let
$$S(x,\lambda) = \begin{pmatrix} S_1(x,\lambda) \\ S_2(x,\lambda) \end{pmatrix}$$
 and $C(x,\lambda) = \begin{pmatrix} C_1(x,\lambda) \\ C_2(x,\lambda) \end{pmatrix}$ be solutions of

(1.1) satisfy the conditions $S(a, \lambda) = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$, $C(a, \lambda) = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$ and transmission conditions (1.4).

Denote

$$Z(x,\lambda) := \frac{1}{a_2(\lambda)} \left(S(x,\lambda) + M(\lambda) \varphi(x,\lambda) \right).$$

Let us show that $Z(x,\lambda) \equiv \Phi(x,\lambda)$. Indeed

$$Z_{1}(a,\lambda) = \frac{1}{a_{2}(\lambda)} \left(S_{1}(a,\lambda) + M(\lambda) \varphi_{1}(a,\lambda) \right) = -M(\lambda)$$

$$Z_{2}(a,\lambda) = \frac{1}{a_{2}(\lambda)} \left(S_{2}(a,\lambda) + M(\lambda) \varphi_{2}(a,\lambda) \right)$$

$$= \frac{1}{a_{2}(\lambda)} \left(1 + M(\lambda) a_{1}(\lambda) \right)$$

and consequently

$$l_1 Z = a_2(\lambda) Z_2(a,\lambda) + a_1(\lambda) Z_1(a,\lambda)$$

= $a_2(\lambda) (S_2(a,\lambda) + M(\lambda) \varphi_2(a,\lambda)) \frac{1}{a_2(\lambda)} - M(\lambda) a_1(\lambda) = 1.$

Thus, the functions $Z(x,\lambda)$ and $\Phi(x,\lambda)$ satisfy equation (1.1) and $Z(a,\lambda) = \varphi(a,\lambda)$, hence

$$\Phi\left(x,\lambda\right) = \frac{1}{a_{2}\left(\lambda\right)} \left(S\left(x,\lambda\right) + \Phi_{1}\left(a,\lambda\right)\varphi\left(x,\lambda\right)\right).$$

The function $\Phi(x,\lambda)$ is called Weyl solution and the function $M(\lambda) = \Phi_1(a,\lambda)$ is called Weyl function. The functions $Z(x,\lambda)$ and $\Phi(x,\lambda)$ satisfy equation (1.1)

and $Z_1(a,\lambda) = \Phi_1(a,\lambda)$, $Z_2(a,\lambda) = \Phi_2(a,\lambda)$ for all $x \in [a,\omega)$. Moreover, for ω_i (i = 1, 2, ..., n) and for $x \in [a, b]$

$$Z_{1}(\omega_{i}+0,\lambda) = \alpha_{i}Z_{1}(\omega_{i}-0,\lambda) = \alpha_{i}\Phi_{1}(\omega_{i}-0,\lambda) = \Phi_{1}(\omega_{i}+0,\lambda),$$

$$Z_{2}(\omega_{i}+0,\lambda) = \alpha_{i}^{-1}Z_{2}(\omega_{i}-0,\lambda) - h_{i}(\lambda)Z_{1}(\omega_{i}-0,\lambda)$$

$$= \alpha_{i}^{-1}\Phi_{2}(\omega_{i}-0,\lambda) - h_{i}(\lambda)\Phi_{1}(\omega_{i}-0,\lambda) = \Phi_{2}(\omega_{i}+0,\lambda).$$

We get $Z(x,\lambda) \equiv \Phi(x,\lambda)$. Hence

$$\Phi(x,\lambda) = \frac{1}{a_2(\lambda)} \left(S(x,\lambda) + M(\lambda) \varphi(x,\lambda) \right).$$

In this section, we investigate the inverse problem of the reconstruction of a boundary value problem L from the Weyl function and two different eigenvalues sequences.

Let us consider the boundary value problem

$$\widetilde{\ell}[Y(x)] := BY'(x) + \widetilde{\Omega}(x)Y(x) = \lambda Y(x), \ x \in [a, b],$$

$$\begin{split} \widetilde{l}_1 y &: &= y_2(a) + \widetilde{f}_1(\lambda) y_1(a) = 0, \\ \widetilde{l}_2 y &: &= y_2(b) + \widetilde{f}_2(\lambda) y_1(b) = 0, \\ \widetilde{l}_3 y &: &= y_1(\omega_i + 0) - \widetilde{\alpha}_i y_1(\omega_i - 0) = 0, \\ \widetilde{l}_4 y &: &= y_2(\omega_i + 0) - \widetilde{\alpha}_i^{-1} y_2(\omega_i - 0) - \widetilde{h}_i(\lambda) y_1(\omega_i - 0) = 0. \end{split}$$

 $\widetilde{L} := L(\widetilde{\Omega}, \widetilde{f}_i(\lambda), w_i, \widetilde{\alpha}_i, \widetilde{h}_i(\lambda))$, where $\widetilde{\Omega}(x) = \begin{pmatrix} \widetilde{p}(x) & q(x) \\ q(x) & \widetilde{r}(x) \end{pmatrix}$. It is assumed in what follows that if a certain symbol s denotes an object related to the problem L then \widetilde{s} denotes the coresponding object related to the problem \widetilde{L} .

Theorem 3.1. The boundary value problem L is uniquely determined by the Weyl function, i.e., if $M(\lambda) = \widetilde{M}(\lambda)$, $a_i(\lambda) = \widetilde{a}_i(\lambda)$ (i = 1, 2), then $\Omega(x) = \widetilde{\Omega}(x)$, a.e., $f_2(\lambda) = \widetilde{f}_2(\lambda)$, $\alpha_i = \widetilde{\alpha}_i$, $h_i(\lambda) = \widetilde{h}_i(\lambda)$ for $i = 1, 2, \ldots, n$.

PROOF. Introduce a matrix $P(x,\lambda) = [P_{ij}(x,\lambda)]_{i,j=1,2}$ by the formula

(3.1)
$$P(x,\lambda) = \phi(x,\lambda)\widetilde{\phi}^{-1}(x,\lambda),$$

where
$$\phi(x,\lambda) = \begin{pmatrix} \varphi_2(x,\lambda) & \frac{\psi_2(x,\lambda)}{\Delta(\lambda)} \\ \varphi_1(x,\lambda) & \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} \end{pmatrix}$$
 and $\widetilde{\phi}(x,\lambda) = \begin{pmatrix} \widetilde{\varphi}_2(x,\lambda) & \frac{\widetilde{\psi}_2(x,\lambda)}{\widetilde{\Delta}(\lambda)} \\ \widetilde{\varphi}_1(x,\lambda) & \frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} \end{pmatrix}$.

Write (3.1) openly

$$\begin{cases} P_{11}(x,\lambda) &= \varphi_2(x,\lambda) \frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} - \widetilde{\varphi}_1(x,\lambda) \frac{\psi_2(x,\lambda)}{\Delta(\lambda)} \\ P_{12}(x,\lambda) &= \widetilde{\varphi}_2(x,\lambda) \frac{\psi_2(x,\lambda)}{\Delta(\lambda)} - \varphi_2(x,\lambda) \frac{\widetilde{\psi}_2(x,\lambda)}{\widetilde{\Delta}(\lambda)} \\ P_{21}(x,\lambda) &= \varphi_1(x,\lambda) \frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} - \widetilde{\varphi}_1(x,\lambda) \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} \\ P_{22}(x,\lambda) &= \widetilde{\varphi}_2(x,\lambda) \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} - \varphi_1(x,\lambda) \frac{\widetilde{\psi}_2(x,\lambda)}{\widetilde{\Delta}(\lambda)} \end{cases}$$
 Since
$$\frac{\psi_i(x,\lambda)}{\Delta(\lambda)} = -\Phi_i(x,\lambda) = -\left[\frac{1}{a_2(\lambda)} \left(S_i(x,\lambda) + M(\lambda)\varphi_i(x,\lambda)\right)\right] \text{ and } \\ \varphi_i(x,\lambda) &= a_2(\lambda) C_i(x,\lambda) + a_1(\lambda) S_i(x,\lambda), \ i = 1,2, M(\lambda) = \widetilde{M}(\lambda), \text{ the relations} \\ \begin{cases} P_{11}(x,\lambda) &= \widetilde{C}_1(x,\lambda) S_2(x,\lambda) - C_2(x,\lambda) \widetilde{S}_1(x,\lambda) \\ P_{12}(x,\lambda) &= \widetilde{C}_1(x,\lambda) S_1(x,\lambda) - C_1(x,\lambda) \widetilde{S}_1(x,\lambda) \\ P_{21}(x,\lambda) &= \widetilde{C}_1(x,\lambda) \widetilde{S}_2(x,\lambda) - \widetilde{C}_2(x,\lambda) S_1(x,\lambda) \\ P_{22}(x,\lambda) &= C_1(x,\lambda) \widetilde{S}_2(x,\lambda) - \widetilde{C}_2(x,\lambda) S_1(x,\lambda) \end{cases}$$

are obtained from (3.2). Hence the functions $P_{ij}(x,\lambda)$ are entire on λ as $M(\lambda) = \widetilde{M}(\lambda)$. In addition, $P_{ij}(x,\lambda)$ are bounded with respect to λ . Therefore, it is obvious from Liouville's theorem that, these functions depend only on x.

On the other hands, from (3.2),

$$\begin{split} P_{11}(x,\lambda) - 1 &= \varphi_2(x,\lambda) \left(\frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} - \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} \right) - \frac{\psi_2(x,\lambda) \left(\widetilde{\varphi}_1(x,\lambda) - \varphi_1(x,\lambda) \right)}{\Delta(\lambda)}, \\ P_{12}(x,\lambda) &= \widetilde{\varphi}_2(x,\lambda) \left(\frac{\psi_2(x,\lambda)}{\Delta(\lambda)} - \frac{\widetilde{\psi}_2(x,\lambda)}{\widetilde{\Delta}(\lambda)} \right) - \frac{\widetilde{\psi}_2(x,\lambda) \left(\varphi_2(x,\lambda) - \widetilde{\varphi}_2(x,\lambda) \right)}{\widetilde{\Delta}(\lambda)}, \\ P_{21}(x,\lambda) &= \varphi_1(x,\lambda) \left(\frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} - \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} \right) - \frac{\psi_1(x,\lambda) \left(\widetilde{\varphi}_1(x,\lambda) - \varphi_1(x,\lambda) \right)}{\Delta(\lambda)}, \\ P_{22}(x,\lambda) - 1 &= \widetilde{\varphi}_2(x,\lambda) \left(\frac{\psi_1(x,\lambda)}{\Delta(\lambda)} - \frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)} \right) - \frac{\widetilde{\psi}_2(x,\lambda) \left(\varphi_1(x,\lambda) - \widetilde{\varphi}_1(x,\lambda) \right)}{\widetilde{\Delta}(\lambda)}. \\ \text{Since } -\frac{\psi_i(x,\lambda)}{\Delta(\lambda)} &= \Phi_i \left(x,\lambda \right) = \frac{1}{a_2 \left(\lambda \right)} \left(S_i(x,\lambda) + M \left(\lambda \right) \varphi_i(x,\lambda) \right), \\ \varphi_i(x,\lambda) &= a_2 \left(\lambda \right) C_i \left(x,\lambda \right) + a_1 \left(\lambda \right) S_i \left(x,\lambda \right) \text{ and } M(\lambda) = \widetilde{M}(\lambda) \\ P_{11}(x,\lambda) &= \widetilde{C}_1 \left(x,\lambda \right) S_2 \left(x,\lambda \right) - \widetilde{C}_2 \left(x,\lambda \right) S_2 \left(x,\lambda \right) \\ P_{12}(x,\lambda) &= \widetilde{C}_2 \left(x,\lambda \right) \widetilde{S}_2 \left(x,\lambda \right) - \widetilde{C}_2 \left(x,\lambda \right) S_2 \left(x,\lambda \right) \end{split}$$

$$P_{21}(x,\lambda) = \widetilde{C}_1(x,\lambda) S_1(x,\lambda) - C_1(x,\lambda) \widetilde{S}_1(x,\lambda)$$

$$P_{22}(x,\lambda) = C_1(x,\lambda) \widetilde{S}_2(x,\lambda) - \widetilde{C}_2(x,\lambda) S_1(x,\lambda).$$

Therefore, due to the fact that,

$$\lim_{\lambda \in \mathbb{R}, \lambda \to \infty} \frac{\psi_2(x, \lambda) \left(\widetilde{\varphi}_1(x, \lambda) - \varphi_1(x, \lambda) \right)}{\Delta \left(\lambda \right)} = 0,$$

$$\lim_{\lambda \in \mathbb{R}, \lambda \to \infty} \varphi_2(x, \lambda) \left(\frac{\widetilde{\psi}_1(x, \lambda)}{\widetilde{\Delta}(\lambda)} - \frac{\psi_1(x, \lambda)}{\Delta(\lambda)} \right) = 0,$$

for all $x \in [a, b]$

$$\lim_{\lambda \in \mathbb{R}, \lambda \to \infty} \left[P_{11}(x, \lambda) - 1 \right] = 0$$

uniformly with respect to x. Thus $P_{11}(x,\lambda) \equiv 1$ and similarly, $P_{22}(x,\lambda) \equiv 1$ $P_{12}(x,\lambda) = P_{21}(x,\lambda) \equiv 0$. Substituate these relations in (3.2), to get

$$\begin{array}{rcl} \varphi_1(x,\lambda) & \equiv & \widetilde{\varphi}_1(x,\lambda), \ \varphi_2(x,\lambda) \equiv \widetilde{\varphi}_2(x,\lambda), \\ \frac{\psi_1(x,\lambda)}{\Delta(\lambda)} & \equiv & \frac{\widetilde{\psi}_1(x,\lambda)}{\widetilde{\Delta}(\lambda)}, \ \frac{\psi_2(x,\lambda)}{\Delta(\lambda)} \equiv \frac{\widetilde{\psi}_2(x,\lambda)}{\widetilde{\Delta}(\lambda)}. \end{array}$$

Hence $\Omega(x) = \widetilde{\Omega}(x)$, a.e., since $\frac{\psi_i(x,\lambda)}{\Delta(\lambda)} = \frac{\widetilde{\psi}_i(x,\lambda)}{\widetilde{\Delta}(\lambda)}$, for i=1,2 and

$$\begin{cases} b_2(\lambda) \psi_2(b,\lambda) + b_1(\lambda) \psi_1(b,\lambda) = 0 \\ \widetilde{b}_2(\lambda) \widetilde{\psi}_2(b,\lambda) + \widetilde{b}_1(\lambda) \widetilde{\psi}_1(b,\lambda) = 0 \end{cases}$$

 $b_1(\lambda)\widetilde{b}_2(\lambda) - b_2(\lambda)\widetilde{b}_1(\lambda) = 0$. Since $b_1(\lambda)$, $b_2(\lambda)$ as well as $\widetilde{b}_1(\lambda)$, $\widetilde{b}_2(\lambda)$ do not have common zeros, $b_1(\lambda) = \widetilde{b}_1(\lambda)$, $b_2(\lambda) = \widetilde{b}_2(\lambda)$ i.e., $f_2(\lambda) = \widetilde{f}_2(\lambda)$. From transmission conditions (1.4), since $\varphi_i(x,\lambda) = \widetilde{\varphi}_i(x,\lambda)$, i = 1, 2, we get $\alpha_i = \widetilde{\alpha}_i$, $h_i(\lambda) = \widetilde{h}_i(\lambda)$ for $i = 1, 2, \ldots, n$. Thus, $L = \widetilde{L}$.

Consider the following boundary value problem $L_1(\Omega(x), f_1(\lambda), f_2(\lambda))$:

$$\begin{split} &\ell\left[y(x)\right] := BY'(x) + \Omega(x)Y(x) = \lambda \rho(x)Y(x), \ x \in [a,b]\,, \\ &l_1y := y_1(a) = 0, \\ &l_2y := y_2(b) + f_2(\lambda)y_1(b) = 0, \\ &l_3y := y_1(\omega_i + 0) - \alpha_i y_1(\omega_i - 0) = 0, \\ &l_4y := y_2(\omega_i + 0) - \alpha_i^{-1} y_2(\omega_i - 0) - h_i\left(\lambda\right)y_1(\omega_i - 0) = 0. \end{split}$$

Let $\{\mu_n\}_{n\geq 0}$ be the eigenvalues of the problem L_1 . It is clear that,

$$\Delta_1(\lambda) = W[\psi, S] = \psi_1(a, \lambda) S_2(a, \lambda) - \psi_2(a, \lambda) S_1(a, \lambda) = \psi_1(a, \lambda)$$

is the characteristic function of L_1 .

THEOREM 3.2. If $\lambda_n = \widetilde{\lambda}_n$ and $\mu_n = \widetilde{\mu}_n$ for all $n \in \mathbb{Z}$, $a_i(\lambda) = \widetilde{a}_i(\lambda)$, (i = 1, 2), $a_2 = \widetilde{a}_2$ and $m_i = \widetilde{m}_i$ (i = 1, 2, ..., n) then $\Omega(x) = \widetilde{\Omega}(x)$, a.e., $f_2(\lambda) = \widetilde{f}_2(\lambda)$, $h_i(\lambda) = \widetilde{h}_i(\lambda)$, $\alpha_i = \widetilde{\alpha}_i$, (i = 1, 2, ..., n).

PROOF. Since $\lambda_n = \widetilde{\lambda}_n$, and $\mu_n = \widetilde{\mu}_n$ then $\frac{\Delta(\lambda)}{\widetilde{\Delta}(\lambda)}$ and $\frac{\Delta_1(\lambda)}{\widetilde{\Delta}_1(\lambda)}$ are entire function in λ . On the other hand, since $\lim_{\lambda \to -\infty} \frac{\Delta(\lambda)}{\widetilde{\Delta}(\lambda)} = \lim_{\lambda \to -\infty} \frac{\Delta_1(\lambda)}{\widetilde{\Delta}_1(\lambda)} = 1$, then $\Delta(\lambda) \equiv \widetilde{\Delta}(\lambda)$ and $\Delta_1(\lambda) \equiv \widetilde{\Delta}_1(\lambda)$. Therefore, $\psi_1(a,\lambda) \equiv \widetilde{\psi}_1(a,\lambda)$ and then $M(\lambda) = \widetilde{M}(\lambda)$ from $\Phi_1(x,\lambda) = -\frac{\Psi_1(x,\lambda)}{\Delta(\lambda)}$ and $M(\lambda) = \Phi_1(a,\lambda)$. Thus, the proof is completed by Theorem 3.1.

References

- R. Kh. Amirov, B. Keskin, and A. S. Ozkan, Direct and inverse problems for the Dirac operator with spectral parameter linearly contained in boundary condition. *Ukrainian Math. J.*, 61 (91)(2009), 1155–1166.
- R. Kh. Amirov, A. S. Ozkan, and B. Keskin, Inverse problems for impulsive Sturm-Liouville operator with spectral parameter linearly contained in boundary conditions. *Integral Trans*forms and Special Functions, 20 (8)(2009), 607-618.
- P.A. Binding, P.J. Browne, and K. Seddighi, Sturm-Liouville problems with eigenparameter dependent boundary conditions. Proc. Edinburgh Math. Soc., 37 (2)(1993), 57-72.
- P. A. Binding, P. J. Browne, and B. A. Watson, Inverse spectral problems for Sturm– Liouville equations with eigenparameter dependent boundary conditions. *J. London Math. Soc.*, 62(2000), 161-182.
- P. A. Binding, P. J. Browne, and B. A. Watson, Equivalence of inverse Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter. *J. Math. Anal. Appl.*, 291(2004), 246-261.
- P. A. Binding, P. J. Browne, and B. A. Watson, Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter I. *Proc. Edinburgh Math. Soc.*, 45(2002), 631–645.
- P. A. Binding, P. J. Browne, and B. A. Watson, Sturm-Liouville problems with boundary conditions rationally dependent on the eigenparameter II. *Journal of Computational and Applied Mathematics*, 148(2002), 147-168.
- P. J. Browne and B.D. Sleeman, A uniqueness theorem for inverse eigenparameter dependent Sturm-Liouville problems. *Inverse Problems*, 13(1997), 1453-1462.
- A. Chernozhukova and G. Freiling, A uniqueness theorem for the boundary value problems with non-linear dependence on the spectral parameter in the boundary conditions. *Inverse Problems in Science and Engineering*, 17(6)(2009), 777-785.
- 10. G. Freiling and V. A. Yurko, Inverse problems for Sturm–Liouville equations with boundary conditions polynomially dependent on the spectral parameter, *Inverse Problems*, **26**(2010) 055003 (17pp.).
- C. T. Fulton, Two-point boundary value problems with eigenvalue parameter contained in the boundary conditions. Proc. R. Soc. Edinburgh, A77(1977), 293-308.
- N.J. Guliyev, Inverse eigenvalue problems for Sturm-Liouville equations with spectral parameter linearly contained in one of the boundary condition. *Inverse Problems*, 21(2005), 1315-1330.
- Y. Güldü and E. Mişe, On Dirac operator with boundary and transmission conditions depending Herglotz-Nevanlinna type function. AIMS Mathematics, 6(4)(2021), 3686-3702. doi: 10.3934/math.2021219.
- B. Keskin and A. S. Ozkan, Inverse spectral problems for Dirac operator with eigenvalue dependent boundary and transmission conditions. *Acta Math. Hungar.*, 130(4)(2011), 309-320.

- R. Mennicken, H. Schmid, and A. A. Shkalikov, On the eigenvalue accumulation of Sturm-Liouville problems depending nonlinearly on the spectral parameter. *Math. Nachr.*, 189(1998), 157-170.
- A. S. Ozkan, Half-inverse Sturm-Liouville problem with boundary and discontinuity conditions dependent on the spectral parameter. *Inverse Problems in Science and Engineering.*, 22(5)(2014), 848-859.
- 17. A. S. Ozkan, An Impulsive Sturm-Liouville problem with boundary conditions containing Herglotz-Nevanlinna type functions. *Appl. Math. Inform. Sci.*, **9**(2015), 205-211.
- 18. H. Schmid and C. Tretter, Singular Dirac systems and Sturm-Liouville problems nonlinear in the spectral parameter. *Journal of Differential Equations.*, **181**(2)(2002), 511-542.
- 19. A. A. Shkalikov, Boundary value problems for ordinary differential equations with a parameter in the boundary conditions. *J. Sov. Math.*, **33**(1986), 1311-1342. Translation from *Tr. Semin. Im. I.G. Petrovskogo.*, **9**(1983), 190-229.
- V. A. Yurko, Boundary value problems with a parameter in the boundary conditions. *Izv. Akad. Nauk Armyan. SSR.*, Ser. Mat., 19(5)(1984), 398–409. English translation in Soviet J. Contemporary Math. Anal., 19(5)(1984), 62-73.
- V. A. Yurko, An inverse problem for pencils of differential operators. Mat Sbornik., 191(10)(2000), 137-158 (Russian). English translation in Sbornik Mathematics., 191(2000), 1561-1586.
- 22. J. Walter, Regular eigenvalue problems with eigenvalue parameter in the boundary conditions. *Math. Z.*, **133**(1973), 301-312.

Received by editors 5.11.2024; Revised version 7.5.2025; Available online 31.5.2025.

Merve Arslantaş, Department of Mathematics, Sivas Cumhuriyet University, Sivas, Türkiye

 $Email\ address: merveguray00gmail.com$

Yalçın Güldü, Department of Mathematics, Sivas Cumhuriyet University, Sivas, Türkiye

Email address: yguldu@cumhuriyet.edu.tr